0¥ wdd
‘lllll}lllll]lllllIlilllllllllllllllllIlllll]llllllllllllIll

B

B8

llklllllllllllllllIIlJ||*Illlllill£l||IIIIIIIllll’]lllll!lljlll]llIllllI!llIIIIIIIIIII|||ll|lll|llfl|ll|Illllllllllll!l]Il]llljlll]llllIIIlIllllIllllIlll]lllllllll]lllll

Integral

1.6805

1.0000

1.8580 _—

T T —

1.0704
2.0128

e

1.0713

_—

3.3315

3.3823

Y
13°00

ud°os

"

€Da0 ‘ZHIN00E
5002 ‘v0 Ae :8leq

-ulg :oidweg

/|

pem

.92584
.92346
.92158
.91812
.91655
.89814
.89340
.68956
.66463
61541
.61323
.60830
59225
.58733
.58600
.58232
.27013
.30549
53174
.52978
.48577
.48384
.32365
.30220
.29980
.27858
.27600
.26674
.25489
25232
.24578
.24289
.23125
21916
.97000
.92400
45479
.33887
.36890
.36327
.35883
.34615
.33961
.33855
.33489
.32239
.31620
31123
30847
.30006

‘T 3onpoJd sutg

‘1200

§00e/k0/80



